N of associated (recoToSim) looper tracks vs dxy

N of reco track vs dxy N of associated (recoToSim) tracks vs dxy

9] 1%} 123 0
x x < x
Q Q o (5]
g g g 8
5 = S z
B 10? 8 3
=
=]
1
1 Ed
R " FE R |1
= V. f
g i IEB-TRJEIEIBEYS windous e
24 0 0 ul Il T T
G- -3 B0 IO G GEREEY IR . [P RN, b A1 SN E .
0.9 L . : A
0'—‘25—40—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 1%} 2] 0
x < X x
Q Q [=] (=)
g g g 8
[ [} Q
ERT ® 10° S
=
=3
o
10 10
1
=] o =] =]
T I T I
o x o 14
0.9)
5520 -1 0 20 30 8520 -0 0 10 20 30 85520 -0 o0 10 20 30 -30 -20 -10 O 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


